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3. 14 X6= 3.14X0. 6= 3. 14 X10X2=
3. 14 X7= 3.14X0. 7= 3. 14 X20X2=
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. 14X100= 3.14X2.5X2= C=6. 28m,h=0. Im
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960+—20= 28.26+3. 14= 28,263, 14—2=

5.6+—1. 4= 31.4--3. 14= 31.4-=-3. 14=2=
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4, 3m*= ) dm’®
6500dm* = )m’
0.81m*= ) cm?
3. 6m* = ( ) dm?
0. 8m’= )dm”
1800dm?* = )m?®
270dm* = )m’®

25dm? = ( ) cm’®

0. 03dm*= ) cm”
1. 2m?*=( ) cm”
Im’*=( )dm®
0.015m*=( )dm’
4500dm? = )m’®

2.5L=( )mlL
600mlL=( )L

0. 8m® = ( )L
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0. 035m’ = )dm® = )em?
7. 2L.=( dmL=( )dm?
9000mL=C  )em’= )dm®

2000mlL=( )em® = ( )dm’

1600mL=( )em® = )dm®

250mL=( )em® = ( ) dm?

80L=( )dm® = )em®

1. 2L=( )dm? = ( )em’

800L=C  Hdm’= )m’

20L=( )em?® = ( )ml
1. 08L=( )1L( )mL

7.5L=( )LL( dml.

1. 67m* = )m?® ( )dm?

28. 04m* =( )m? ( )dm?®

1. 6dm’= )dm? ( )em?

35dm? =( Ym? = ( )cm?
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3. 14X 30= 3. 14X 5% 2= 3 14X 12X 7=

3. 14X 50= 253, 14X 5— 3. 14X 22 X 5—

3. 14X 60— 154X 3. 14— 3 14X 22X 2, 5—

6. 28=3. 14— 3. 14X 15X 4= 3. 14X 32 X 10=

9. 423, 14= 155 3. 14X 4= %x& 14532 X 20—
12563, 14— 0.5X8X3. 14— %xa 14X 42 X 15—
188. 43, 14— 83, 14 X0, 5= 3, 14><32><1><%=
98. 263, 14— 3. 148X 0. 5— %xg. 14X 12X 6=
31443, 14— 1.25%X8X 3. 14— %xg. 14X 52X 12—
3 14X 17 = 8§53, 14X 1. 25— %xs. 14X 12X 15—
3. 14X 207 — 1. 2X5%3. 14— %><3. 14522 X 3—
3. 14X 3 = 3. 14X 52 X 4— %xs. 14X 62 X 5=
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120, 5= 3. 140, 1— 3. 14X 4X 2=

2. 3% 4= 3. 14X 6= 3. 14X 5X 6=

5.1+-3= 3. 14X 4= 2% 3. 14X 20=

1040, 5= 3. 14X 8= 3. 140, 1 X 5=

0.924-3— 3. 140, 2— 3. 14X 50X 4=

0.81=3= 3. 140, 5— %xs. 14X 6=

10X70% = 3. 14X 90— 3. 14927 =

720, 8= 3. 140, T— 3. 14X 12X 8=

3. 40, 5= 3. 14 300— 3, 14><32><%:

5.1+-17= 3. 140, 6= 3. 140, 3 —

4 2= 3. 14X 40= 3, 14><%><18=

1. 42X 4= 3. 14X 100= 3. 14X 25X 4=

7.909— 15.7+3. 14= 12,563, 14+ 2—

0.36--0. 18— 18. 843, 14— 04, 2+3. 14=2—

3%0, 25= 9 198=3. 14— 3. 14X (6-2)2 =
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7% 63= 2.1+1.8= 30+ 50=
36+ 72= 7:3.5= 45 9=
72+ 36= 3.5+ 7= 12 : 12=
16 : 12= 6:0.5= §t2.4=
12 : 16= 0.5: 6= 4:3.2=
_ _ Z,1_
4:10= 5t 2.5 s
: A— e L
10 : 4= 2.5 5= 56-§—
H = H = l H i:
1512 7.5+ 4.5 18
H fr— H fr— l H l:
12+ 15 4.5+ 7.5 579
1A s 0 B . 2
32+ 16= 0.9:0.5= 1-3
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16 = 32 0.5:0.9 35
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27 18= 376 16 4
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4:24—1:6 12 4X5=2%10
AXC Hy=24X( ) AXC y=12X( ) bz
C ()
B B C O
( HIX1=( )X6 ( HIX5=( )X15 L0
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5 JHK = 5Kk=
2 JHK : 8 k=
13 JEK ¢ 390 k=
2 Jik ¢ 2 Fok=
3 K + 12 Tok=

0.5cm ¢ 15m=

2cm ¢ 6m=—

7cm ¢t 21km=

5cm ¢ 50km=

0.7cm ¢ Tm=

S8cm ¢ 0. 24km=

1.2 : 4800= 10 JH>K : 500 F2k= 1. 8cm : 180km=
8000 : 8= 4 JEA = 20 Tk= 4em t 40km=
50+ 2. 5= 4K+ 10 K= 2cm ¢ 60km=
20000 : 4= 0.5 JEHK : 300 K= 3cm ¢ 9m=
3000 : 15= 0.8 JEHK = 32 k= 2cm ¢ Skm=
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